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Part I :- Circle the letter corresponding to the correct answer :-

1) Find all critical numbers of adjall A jal) Llail aa gl (1
(x) =x*—-2x%2+5 (x) =x*—-2x*+5

2) Find the absolute maximum - Adthal) oaliel) dagdl) aag) (2

of:f(x) = tan1(x?) 58N b f(x) = tan~1(x3)Aa
on interval [-1,1] [—1,1]

3) Determine where the function adjall ag) il < 38 aa gl (3
is increasing of f(x) = In(x?* — 4)

f(x) = In(x* — 4)

A (-2,2)
5) (DU,

C) (—,2)

D) (2,)




4) Determine all local extrema Alall Adaall (5 guall) aibll 22 gf (4

X X
fO = 5 fO) =5
A x=-1 l.saloclmm x=1isalocl max.
x—1m4.d;4"ehcj x=-1 mA.\h.Ach.ua
B) x—llsaloclmm x =—1isalocl max. %
P x——1m4.\.\uwhs3 x =1 xc ddaa 5 ua

C) .__,x/= —1is a loclmin.,no locl max. ~
% | Mh.nunhsny‘x"g x_—1 dic ddaa 5 hua
DYy x-llsalocl max.,no locl min.
UMLQMJAJJ\JJ x——1 dic ddaa ealic

5) Identify inflection points for the A)all Cillaa ) Jaldi saa (5
function 4
4 fx) =x+—
fO) =x+- x
A (2,4) ¥
B) (-25—-4)

D”)’ No inflection points d&as_gﬁs i Y

6) Determine the intervals of the Al oy il &l b s (6
function is concave up

A) concave ﬁp (0,00)

B) cos;éé\}e up(—oo, -—..«I)HU (1, 00)

ta-
-

C). concave up (—oo 0)

D) concave up':'q(—oo , )

NGraph Limited School Edition




5) Graph the function ¢ A asl (5
f(x) =x+ sinx f(x) =x+ sinx

aph Limited School Edition PBGraph Limited School Edition

WGraph Limited School Edition aph Limited School Editior:

8) Suppose that the charge in Al gl B lal A sl o 2 b e (8

electrical circuit is Q(t) = 10e75t + 2te~2t

Q(t) = 10e~> + 2te %t + + 3 sin 2t — 7 cos 2t
3sin2t — 7 cos2t Coulombs. .l A
Find the current. '

A) Q (t) . _50e-5t — 4e42t + 6 cos Zt +'14 sin 2t

B) Q (t) = 50e™>* + de 2t + 6 cos Zt + 14 sin 2t
C)" Q (t) = —50e75t 4+ 22t — 4e 2t 4 6 cos 2t — 14 sin 2t

D) Q'(t) = —50e™% +2e 2 —4e7 2t + 6 cos 2t + 14 sin 2t

. pHSS




er

+1
dx

o X

9) Evaluate |

A) e** +x+c

'

B) e* — e__"x +c
C) e* +e*+c

DL s,

—e* +_.'C”.

10) Determine the position function | 4s ) 4113 cuils 13) aua gall 4dfa 238 (10
if the velocity function is P
v(t) =1+ 2sint ft/s* ,s(0) =0 | v(t) = 1+ 2sint ft/s* ,s(0) =0

A) S(t) =t ~+2cost+2

B r.‘_‘;-.-l ;
) St)= Etz —2sint+ 2t

C),'S(t) = t + 2cos't — 2

D) S(t) = 2cos t

11) Use summation rules to g saxall Aoy £ ganall (il 8 aadiad (11
compute the sums >0, (i% — 5i)
24 (i — 510),
A) 36550
S
B) 36566
C)."49256

D) 36560




12) Use the given function values to | 4alua il sasaal) \u) o piidal (12
estimate the area under the curve 4lgl) Adals aladinly dadal) cial ddhial)
using left endpoint evaluation (8 i

x 10411121314 [15|1617]18
f(x)|.1.8 /| 1.4[11/07[1.2|14]18]24]26

A) -4 =181
BY A=1.18
C) A=1.62

D) A=1.44

13) Assume thjatf f(x)dx =5, f;lg(x).dx = —3 andfind

[ 4f(0) - 3g(0dx
A) 11.. ’
B) 17
C),'23
D) 29

14) Compute the average value | JelSill aladiady o giall dagdll 3a i (14
to compute the integral ad)alt

M2 dx [N dx

1 1+x2 -1 1+x2

A) Aver_\a/g’e =




2
2
15) Evaluate j (4e™%* + F)dx

B) 3e* +Ze -2

C) 3e* _ 8e? + 8
E 4e*
Dy 3e —2e? + 2.
P

Part II :-
16) A three-sided fence is to be built next to a straight section of river,
which forms the fourth side of a rectangular region. The enclosed area is
to equal 800ft* . Find the minimum perimeter
MM@\JS\ m&\d@gﬁ\ﬂ\ww\jpwﬁp3wcm sly i (16
hiaall o jall dadl) an g gooftzwm ddalaal) dabeall ¢ Addaioia




17) Oil spills out of a tanker at the rate of g gallons per minute. The oil
spreads in a circle with a thickness of i ", Given that the radius of the spill is

increasing at a rate of 0. 6 ft/min, when the radius equals

100 ft, determiné the value of g. -
13| i" Hansy 53 b Jadil) pdily 48BN 8 ¢y glla g Jarey Jadih) ABU ¢y Jadil) o pedy (17
Ja\gl&cedﬁlOOJkﬂ\umd\gwum MJ/eJQOGJMJ\AJ.\uM\JMMu\S
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oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

e
© © 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 000 G 0G0 G000 L0000 e 00000 0000000000000 sbooeseseseeeeeseses0e0seseee0 000
.............................................................................................
.............................................................................................
.............................................................................................

ooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo
ooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo
T

..............................................................................................

18) Suppose that a populatlon grows accordlng to the Ioglstlc equation
p'(tY= 4p(t)[5 — ptt)] .Find the populatlon for WhICh the growth rate is
a maximum
p'(£) = 4p(D)[5 — p()] Wdnaly ony 1Sl a1l 5328 e (18
ralind) Aol ga gaill Jara dsd (0 9Sy ) ALS) Al aa g aladily A oll) Alataal)
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19) Use Riemann sum and a limit to compute the exact area under the
curve f(x) = x + 2 on the interval [0, 1].

f(x) = x2 + 2 (Aadall cad 48840 dalewal) 33 g Ailgill g lay ) £ gana aladiuly (19
.[0,1] 8_sdl A

"
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